












Driver Side

1. Align two (2) oblong holes of 
Bracket with two (2) hex holes on 
Rocker Panel.  Fasten the Bracket to 
the Rocker Panel using one (1) M8 x 
30MM Hex Head Bolt, one (1) M8 Flat 
Washer and one (1) M8 Lock Washer 
per hole.

2. Locate two (2) holes on underside of Bracket and 
secure the Bracket to the Pinchweld using one (1) M6 
Button Head Bolt, one (1) M6 Flat Washer and one (1) 
M6 Lock nut per hole.

NOTE: If no holes are present in the Pinchweld to 
accomodate the Button Head Bolts, you must drill 
two (2) holes into Pinchweld using a 1/4” drill bit
(see Fig. 1).

ADDENDUM 
Dodge Ram Trucks Built After June 2015
With Driver Front Support Brace 

Components:

Tools Required:

Hardware:

M8 x 30MM 
Hex Head Bolt
Qty 2

M8 Flat 
Washer
Qty 2

M8 Lock 
Washer
Qty 2

M6 Button
Head Bolt
Qty 2

M6 Flat 
Washer
Qty 2

M6 Lock Nut
Qty 2

10MM SOCKET 1/4” DRILL BIT DRILLRATCHET 4MM ALLEN
WRENCH

Driver Side -
Front Bracket
Qty 1

EXISTING SUPPORT
BRACE CAUSING

INTERFERENCE

2

HEX HOLE

ROCKER
PANEL

M6 BUTTON
HEAD BOLT

M6 FLAT 
WASHERM6 LOCK NUT

UNDERSIDE
OF BRACKET

PINCHWELD

Driver Side

1

BRACKET

M8 FLAT WASHER

M8 x 30 MM HEX HEAD BOLT

M8 LOCK WASHER

DRILL HOLES
WITH 1/4” DRILL BIT

BRACKET

PINCHWELD

Fig. 1


